
- 6 -

Art.nr-KL1H17V

Art.nr-BL1H17V

Artikelnummer-Z200

3

6

9

5

1

4

4

11

12
8

3

8 11

12

10

12

8

12

11

10

11

2 1

9

3 1

4 2

5 1

6 1

7 1

6

7

12

4

6

8



- 7 -

01

02

03



- 8 -

04

05

06

4x

230 110

1
2

0



- 9 -

07

08

09

2x M12x40

2x Æ12.2
2x M12x40

2x Æ12.2

2x Æ13
2x Æ37xÆ13x3

2x M12x40

2x 12.2Æ

2x 37ÆxÆ13x3



- 10 -

10

11

12

5x Æ13

6x Æ12.2

6x M12x25


